KERALA PUBLIC SCHOOLS

HOME ASSIGNMENT (1 to 6t June 2020)

CLASS | SUBJECT TOPIC/CHAPTER MODULE / ASSIGNMENT REFERENCE LINKS
X ENG 01.06.2020 A. Join the sentences without using ‘and’ ‘but’ or ‘so’.
LANG Total English Book X He came to school. He was sick.

Chapter — 7 Synthesis

They heard the news. Immediately they came to see him.
He studied. He failed.

| was annoyed. | kept quiet.

We reached the port. The storm came on.

akrown e

B. Do as Directed.

1.As soon as he came, everyone stood up. ( Begin: No
sooner......)

2. There is no success without effort.(Begin: Wherever....)

3. Sunil is the fastest runner in the school. (................... End: as
Sunil.)

4. Study hard or you will regret it.(Begin: Unless........ )

5. Mega is too tall to crawl under the table.(Begin: Megha is

04.06.2020
Total English Book X
Narrative Composition

Narrative composition mainly consists of
a narration of a story on its own or an
account of a sequence of actions.
Ingredients of a narrative composition

>

>
>
>
>

An interesting incident

Some

characters and

A suitable background

Dialogue and language

A particular mood or aim

e.g.,an incident may be humorous,
sad, frightening or of educational

value.

Narrative Composition

An evening walk, looked forward to with enthusiasm, turns out
to be a disaster. Write a real or imaginary account of such an
occurrence.

Points to Note
o Keep to the order in which_events are supposed to have
occurred so that the beginning_ middle and end occur
chronologically.
e Begin with a bang
for example:
by plunging straight into action,
by setting the theme of the story,
by an unusual detail,
by a dialogue.

https://essayinfo.com
4.6.2020
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e Consider the importance of the scene and the time of the
incident.

e Decide about the selection of characters and anecdotes.

e Decide which aspect is going to be emphasized and make
personal comments where necessary.

05.06.2020

Total English Book X
Chapter-8

Transformation of sentences

Rewrite the following sentences according to the instructions
given after each sentence. Change only enough to do what you
are asked and make a correct sentence. Do not alter the meaning.
1. The mangoes are so costly that you cannot buy them.
( Begin: The mangoes are too costly....... )
2. Mona was too poor to pay her school fees.
(Begin: Mona was so poor.....)
3. An honest man is trusted by all. (Begin: All........ )
4. One should respect one’s parents.
(Begin: Parents...... )
5. The criminal will be arrested.
(End: ........... the criminal)
Their attitude surprised us. (Begin: We....... )
7. Shimlais Cooler Than Dehradun.
(Begin : Dehradun is....... )
8. Australia is the smallest continent.
(End: ............. as small as Australia.)

o

https://www.indiastudyc
hannel.com
https://targetstudy.com
5.6.2020

ENG LIT

02.06.2020

Merchant of Venice

Act 111 Scene iii

This brief scene shifts to the street of
Venice, with Antonio in custody, serves
to make more vivid the audience’s
impression of Antonio’s predicament.
Antonio tries to placate shylock so that
the Jew may change his attitude. But
shylock is delighted at seeing his enemy
helpless and insists that he wants nothing
less than the bond. The Jew is after
Antonio’s life to avenge all the wrong
done to him. This this scene also shows

Read the extract given below and answer the questions that

follows:-

Shylock: Gaoler, look to him: tell not me of mercy;

This is the fool that lent out money gratis:

Gaoler, look to him.

Antonio: Hear me yet, good Shylock.

Shylock : I’ll have my bond;....... to come abroad with him at his

request. (Line no. 1 to 11)

1. What does Shylock ask the jailer to do? Give two reasons
form the extract to justify why Shylock was against Antonio?

2. Give the meaning of :

a. lent out money gratis: ........
b. beware my fangs:

https://www.extramark.
com
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that Antonio will have no escape and will
be tried in the court of law. Thus, the
audience is prepared for the great trial
scene.

3. How does this short scene show the determination of Shylock
to extract the penalty as stipulated in the bond?

4. What justice does Shylock seek from the Duke? Describe
briefly how this scene prepares audience for the climax of the
trial scene?

03.06.2020
Merchant of Venice
Act 111 Scene iii (cont.......)

Read the extract given below and answer the questions that
follows:-
Antonio :
Let him alone:
Salarino:
| am sure the duke
Will never grant this forfeiture to hold.
ANtonio: .........ce.ee.
Consisteth of all nations.
(Llne no. 21 to 34)
. What has enraged Antonio to speak in this manner?
According to Antonio why does Shylock
seek his life?
What does Salarino say about the Duke?
3. Who are the strangers referred to in the extract? What
commodity do they have in Venice?
Can the Duke deny the course of law to the strangers? Why?
What final wish does Antonio express before he would die?
What does it reveal about his character?

N

ok~

06.06.2020

Merchant of Venice

Act 111 Scene iv.

The scene takes us back to Portia’s
residence in Belmont. Bassanio and
Gratiano have already left for Venice.
The themes of loyalty to friends,
disguise and deceit from the subjects of
this scene. Portia conceives of a plan to
rescue Antonio from the clutches of the
Jew. She entrusts Lorenzo and Jessica
with the charge of her house. She sends a

Read the extract given below and answer the question that

https://extramarks.com

follows:-

Lorenzo:

How true a gentleman you send relief.
Portia:

Of lineaments, of manners, and of spirit;
(Line no.6 tol15)

1. Who is referred to as true gentleman? Why is he in need of
relief?

6.6.2020
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messenger to Dr. Bellario in Padua,
seeking from the eminent doctor of law a
letter recommending her to the Duke of
Venice. She then gets ready to go to
Venice disguised as a lawyer and Nerissa
as her clerk.

2. Explain the kind of relationship that exists between the

gentleman and Bassanio.

Give the meaning of ‘an equal yoke of love’.

4. Why does Portia conclude that the true gentleman must be
like Bassanio?

5. What assignment does Portia give to Bassanio?

w

HINDI

Wis ® T 3TgHt, Arqg |ieR 3t 3R

s o W st - eiemer 2wl gad
T - ot Al ¥ g2 3! dew! & faae d gt em &
foru gRgR ST Ut
%, AGD P B, HET AR | ST UT?
W, T A 310 B &1 URMRYe uf=g o1 fean
1. TRaP P! fT 3REU1 & &1 T v usT? fawar 3 9Tt |
Y. RGP B el Mal dgaq! f?3< Rasw I 7af per usTramg
ATHR ITIH P T T T2
Sifafad U .-
. BRER WY R RGP I A4 DI 37T YT? ARG - 39 T
Rt fean sik a1
7. {3 S & fawg & oy feguoht &1 ik e
T, AR BRI & ATHIR A SAFTY T T BT fawR I Idd |
. TRa® & 7T & fobdd =8 973! Ul A SATS 1 HRal UM &
I HRUT IdT4?
gr.wﬁaa‘fﬁuﬂgﬁﬁm%,wa‘é i % guer & Kt
1. AT @t STaRadaratt a1 gfd ot T8 81 U X8t g umea ford |
A1 TR B 3R - GUST HART dgH
T - "I g IRT g U,

TG D! TEATS 3T |

FATHR ST -39 39,

ST BT HR §eT3 39l
:ﬁvve@-m"ma{ﬁw%?mm-mw@a%eﬁ?

T, SR T I R R ST b T 2 i o
TS B HR fHTd I iR HY g TTedl 82
1. Haf= &1 Wi uR=d dd gU widd &1 3= ford |




. 3 ford - o o1, WU, g, Wpld, B IRATG, RT

Sfafed vy -

&, A b [y a1d BT & 3T WY oY |

9. 7 & STt TRaR A halfd &1 &1 a1 AT g2fawdR &

g

®. BN S A e | e e 8 iR B

. o]  STeel A 9 e - ST ST} & TR} il 5 v

1 HTd WY DY |

%aﬁﬁmaﬁwe@nﬁaﬂﬂﬂ?ﬂﬁéﬁﬁww%w
|

I, "\ BH G TR | HafdEt &1 drerd g2 ATgHicR frae
Tl §?

MATHS

Ch - 5 : Quadratic Equations: (June 1%to
6!") — 6 Modules

Solve Quadratics equations
1) Factorisation method
2) Quadratic formula
Instructions:
o Clear all fractions (if any).
e Write the equation in standard form
o Factorise the left side/Use formula
e Solve the resulting equations.
Nature of roots
1) Real and equal
2) Real and unequal
Word problems
1) Numbers (Fractions, Place value)
2) Age
3) Cost
4) Percentage
5) Speed, distance and time
6) Work and time
Instructions:
¢ Read and reread the statement of the problem carefully, and
determine what quantities must be found.
o Represent the unknown quantity by letter x.
e Determine which expressions are equal and write equations.
e Solve the resulting equations.
Write the result as answer (statement)

Factorisation method
https://youtu.be/EBXT

yOGI-fg

Quadratic formula
https://youtu.be/ 0AUs
5TUKi4

Nature of roots
https://youtu.be/v3Q0O

g2vTdijs

Word problems
https://youtu.be/yHDqZ

E7XyHA
https://youtu.be/f7yE58

EEql1Q
https://youtu.be/RL63yd

fMvvs
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https://youtu.be/EBxTyOGI-fg
https://youtu.be/_oAUs5TUKi4
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https://youtu.be/f7yE58EEq1Q
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https://youtu.be/RL63ydfMvvs

Ch - 6 : Factorisation: (June 8" to 13™") —
6 Modules.

Answer all questions (Text Book — Exercise 6)

Instructions:

Watch all modules and Links to answer different types of
questions.

https://youtu.be/yeZN
pObFb5w
https://youtu.be/rYIE
XclOcEU

Ch - 7 : Ratio and Proportion: (June 15™
to 20™") — 6 Modules.

Answer all questions (Text Book —Ex 7.1, 7.2, 7.3)

Instructions:

Watch all modules and Links to answer different types of
guestions

https://youtu.be/RvWy1
wu_4ME
https://youtu.be/6hwsQ

Cd8hjA

PHY

01.06.2020

Ch -3 : Machines
Topics:

*Mechanical advantage
*Velocity ratio
*Efficiency

*Principle of machines

Q1. How is mechanical advantage related to the velocity ratio for
(i) an ideal machine,
(i) a practical machine?
Q2. Define the term efficiency of a machine. Give two reasons
for a machine not to be 100% efficient?
Q3. When does a machine act as
(a) a force multiplier and
(b) a speed multiplier?
Can a machine act as a force multiplier and speed multiplier
simultaneously?
Q4. A machine works as a
(i) force multiplier,
(i1) speed multiplier.
In each case state whether the velocity ratio is more than or
less than 1.
Q5. State the relationship between mechanical advantage,
velocity ratio and efficiency.
Q6. Name the term that will not change for a machine of a given
design.
Q7. Derive the relationship between mechanical advantage,
velocity ratio and efficiency of a machine.
Q8. State one reason why is mechanical advantage less than the
velocity ratio for an actual machine. Derive the relationship
between mechanical advantage, velocity ratio and efficiency of a
machine.

https://youtu.be/Co8 T
iS13M

https://youtu.be/PzzOfl
pXJSc
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04.06.2020

Ch - 3: Machines

Topics:

*Levers

*Class I, Class I, Class 11 levers

Q1. Name the three classes of levers and state how are they

distinguished. Give two examples of each class.
Q4. What is the use of lever if its mechanical advantage is

(a) more than 1,

(b) equal to 1 and

(c) less than 1?
Q5. Both a pair of scissors and a pair of pliers belong to the same
class of levers. Name the class of lever.

Which one has the mechanical advantage less than 1?
Q6. Explain why the mechanical advantage of a class Il type of
lever is always more than 1.
Q7. State the kind of lever which always has the mechanical
advantage less than 1. Draw a labelled diagram of such lever.
Q8. Classes Il levers have mechanical advantage less than 1.
Why are they then used?
Q9. What type of lever is formed by the human body while

(a) raising a load on the palm, and

(b) raising the weight of body on toes?

https://www.topperlearn
ing.com/selina-
solutions/icse-class-10-
physics/selina-concise-
physics-x-part-
ii/machines

08.06.2020

Chapter 3: Machines
Topics:

*Pulley

*Combination of pulley
*Block and tackle system

Q1. Name the pulley which has no gain in mechanical advantage.

Explain, why is such a pulley is then used?

Q2. Name the type of single pulley that has an ideal mechanical

advantage equal to 2. Draw a labeled diagram of the pulley

mentioned by you.

Q3. Give two reasons why the efficiency of a single movable
pulley system is not 100%.

Q4. Draw a labelled diagram of an arrangement of two pulleys,

one fixed and other moveable. In the diagram, mark the

directions of all forces acting on it. What is the ideal mechanical

advantage of the system? How can it be achieved?

Q5. Give reasons for the following :

(a) In a single fixed pulley, the velocity ratio is always more than

the mechanical advantage.

(b) The efficiency of a movable pulley is always less than 100%.

(c) In case of block and tackle system, the mechanical advantage

increases with the increase in the number of pulleys.

(d) The lower block of a block and tackle pulley system must be

of negligible weight.

https://youtu.be/thkMSt
xKgjM

https://youtu.be/LiBcur
laqgcg
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11.06.2020

Ch - 3 : Machines
Topics:
*Numericals:

Ex 3(A): Pg 59

Concise Physics
Ex 3(A): 2,3,6,7,10, 12

15.06.2020
Topics:
*Analysis of Pupils Performance

18.06.2020

Ch — 4 : Refraction of light at plane
surface

Topics:

*Refraction from rarer to denser,
denser to rarer, at normal incidence
*L_aws of Refraction

Q1. What is the cause of refraction of light when it passes from
one medium to another?

Q2. A ray of light passes from medium 1 to medium 2. Which of
the following quantities of the refracted ray will differ from that
of incident ray: speed, intensity, frequency, wavelength?

Q3. State the Snell's laws of refraction of light.

https://youtu.be/SGgFO
kHbTNA

22.06.2020

Ch —4 : Refraction of light at plane
surface

Topics:

*Refractive index

*Factors affecting refractive index of a
medium

*Refraction of light through a
rectangular glass block

*Multiple images in thick mirror

Q1. Define the term refractive index of a medium. Can it be less
than 1?
Q2. A light ray in passing from water to a medium

(a) speeds up

(b) slows down. In each case,

(1) give one example of the medium,

(ii) State whether the refractive index of medium is equal to,

less than or greater than the refractive index of water.

Q3. Name two factors on which the refractive index of a medium

depends? State how does it depends on the factor state by
you.

https://youtu.be/u7Pns5
7_dAg

25.06.2020

Ch —4 : Refraction of light at plane
surface

Topics:

*Refraction of light through a glass
prism

*Factors affecting angle of deviation

Q1. What is lateral displacement? Draw a ray diagram showing
the lateral displacement of a ray of light when it passes through a
parallel sided glass slab.

Q2. State the factors affecting angle of deviation.

Q3. Name the colour of white light which is deviated:

1.The most,

2. The least.

Q4. Draw deviation by a glass prism. (Pg: 83)

https://youtu.be/5xmlu
YOwbIU
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29.06.2020

Ch — 4 : Refraction of light at plane
surface

Topics:

*Simple application of refraction of
light

*Critical angle

*Total internal reflection

*To deviate a ray through 90°, 180°

Q1. What is total internal reflection?

Q2. State two conditions necessary for total internal reflection to
occur.

Q3. Name two factors which affect the critical angle for a given
pair of media. State how do the factors affect it.

Q4. Draw diagrams to illustrate critical angle and total internal
reflection.

Q5. Show with the help of a diagram how a total reflecting prism
can be used to turn a ray of light through 90°. Name one
instrument in which such a prism is used.

Q6. Draw a neat labelled ray diagram to show the total internal
reflection of a ray of light normally incident on one face of a 30°,
90°,60° prism.

https://youtu.be/eWS8ES
IMUayQ

BIO

June 1 to 13t
Photosynthesis

Module 1:

Topic: Introduction- Photosynthesis-Its importance, Structure of
chloroplast and stomata ,Chlorophyll

Q1. What is photosynthesis? Give the chemical equation to
represent the process.

Q2. Draw the structure of chloroplast & label it.

Q3.Which layer of the leaves trap the sunlight?

Module 2

Topic: Phases of Photosynthesis

Q1. Mention the two phases of photosynthesis .Give the
differences between them.

Q2.Dicuss the main steps of light reaction?

Q3.Expand the following.

NADP b. ATP

Module 3:

Topic: Adaptation in leaf for photosynthesis, Factors affecting
photosynthesis.

QL. Give reasons:

a.Photosynthesis stops above 40°C

b.The leaf arrangement is at the right angle to the light source.
Q2.Mention the internal factors that affect photosynthesis.

https://youtu.be/fCTbN
OLaP4g

https://youtu.be/iTnNGI

x5-P8

https://youtu.be/1cJ58k
WG8eU

https://youtu.be/JOKXR
X3fyol



https://youtu.be/eW8ESIMUayQ
https://youtu.be/eW8ESIMUayQ
https://youtu.be/fCTbN0LaP4g
https://youtu.be/fCTbN0LaP4g
https://youtu.be/jTnNGIx5-P8
https://youtu.be/jTnNGIx5-P8
https://youtu.be/1cJ58kWG8eU
https://youtu.be/1cJ58kWG8eU
https://youtu.be/J0KxRX3fyoI
https://youtu.be/J0KxRX3fyoI

Module 4:

Topic: Experiments on photosynthesis

Importance of photosynthesis

Q1. How to destarch leaf?

Q 2. What are the different steps of iodine test? Why do we
perform iodine test?

Q3. Mention the importance of photosynthesis.

Q4. From the Revision questions of the text book:
QC4,6-10,D6

https://youtu.be/0s xZqg
vwm S

June 15" -30" June
Chemical coordination in plants

Ch 7 : Chemical Coordination in Plants

Module 1 :

1. What are plant hormones

2. Differentiate between stimulus and response.

3. Give the location of the plant Auxins and gibberlins.
4.Give any 5 functions of auxins and gibberlins.

https://youtu.be/Hmm
QcaugmrE

https://youtu.be/LIinK
JgFnU

https://youtu.be/W74P5
Gf6E2

Module 2:
1. Give any two functions of Ethylene ,Cytokinins and
ABS.
2. Define apical dominance
3. Define parthanocarpy.
Module 3 :
1. What is meant by tropic movements?
2. Explain Photropism and geotropism
3. What is Hydrotropism?
4. Explain thigmotropism
5. Define chemotropism

https://youtu.be/W74P5
Gf6E2Q

https://youtu.be/4D8tg3
sYBMA

HIST

01.06.2020
Factors leading to the Growth of
Nationalism

03.06.2020
Factors leading to the Growth of

Answer the following questions:
Q1,2,3,10,11,12,19,20,21
Picture Reading: Pg 108[Q7]

Q4,5,6,13,14,15,22,23,24

www.toppr.com
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Nationalism

05.06.2020
Factors leading to the Growth of
Nationalism

Picture reading : Pg 121 [Q1] & [Q3]

Q7,8,9,16,17,18,25,26,27,28
Picture reading : Pg 121 [Q7] & [Q4]

08.06.2020
Objectives and Methods of Struggle of
the Early Nationalists

10.06.2020
Obijectives and Methods of Struggle of
the Early Nationalists

12.06.2020
Objectives and Methods of Struggle of
the Early Nationalists

Answer the following questions:
Q1,2,7,8,13,14,
Picture reading : Pg 131 [Q4]

Q3,4,9,10,15,16,
Picture reading : Pg 131 [Q5]

Q5,6,11,12,17,18,19
Picture reading: Pg 131 [Q6]

https://youtu.be/Y9YJw
VWIBMQ

GEOG

NATURAL VEGETATION

02.06.2020
(MODULE 1)

*The assignments given below have to be done in the Geography
Notebook.
Answer the following questions:

Q1. Explain why forests are an important natural resource.
Q2. Name the different types of forests found in India.
Q3. Name the regions where Tropical Evergreen Forests are
found. Explain why Tropical Evergreen Forests are found in this
region

which you have mentioned?
Q4. How do forests

i) have a favourable effect on the climate of the region?

i) act as a flood control measure?
Q5. Name an area in India where Tropical Monsoon forest is
found. How is this forest of great commercial value to India?

https://youtu.be/cVCH
cVP-q k



https://youtu.be/cVCHcVP-q_k
https://youtu.be/cVCHcVP-q_k

04.06.2020 Q6. Mention two reasons why tropical evergreen forests are https://youtu.be/ZRjk
(MODULE 2) difficult to exploit for commercial purposes? dk4eiyc

Q7. Mention two main characteristics of tropical rainforests?

Q8. State two characteristics of the tropical deciduous forests.

Q9. How do trees in the tropical desert forests adapt themselves

to the dry climate?

Q10. What are ‘tidal forest’? Name two typical trees found there.
06.06.2020 Q11. Give two characteristics of tidal forests. https://youtu.be/A6M
(MODULE 3) Q12.Write any three difference between tropical evergreen and UFVp-VU0

tropical desert forest.

Q13. What are the favourable conditions for the growth of
mangrove forests?
Q14. Give reason for the following:

i) Forests have importance in agriculture.

i) Indo-Gangetic plains have very little vegetation cover.
Q15. Explain why the forest cover in India is shrinking?
Q16. Mention three reasons why forests must be conserved.
Q17. Differentiate between afforestation and deforestation. State
a disadvantage of deforestation.

https://youtu.be/hgHk
d7x6zR4

ENV
APPL.

1% June to 30" June
Ch -2 : Caring for Water

*The assignments given below have to be done in the
Environmental Application Note book.
Ch 2 : Caring for Water

1. List any two traditional water harvesting systems of
Rajasthan

2. State two objectives of Ramsar Convention.

3. What are wet lands?Give the importance.

4. What are Johads? What are they meant for? Where are they

found?

What are Kunds?State two advantages of Kunds.

oo

7. Suggest any three measures to recharge ground water.

List any three differences between large dam and small dams.

https://youtu.be/GNG
KsubYJOU

https://youtu.be/Ggl6Tk
LBUkO

https://youtu.be/sGquT
EGNevw
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https://youtu.be/hgHkd7x6zR4
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8. Mention any three advantages of using night soil as fertilizer.

9. Mention any three ways to reuse water in daily life .

10. Explain the working principle of DCT.

11 Why is there need for rain water harvesting?Briefly discuss
the indigenous technique of water harvesting system of Tamil
Nadu

12 State any five advantages of water recycling .

13. Give any five reasons why we need to conserve water?

14 What is meant by night soil?

15.Give any 5 reasons for water pollution.

16.Give any 5 ways to prevent water pollution.

https://youtu.be/QLO

GvbSriDk
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